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ELECTIVE COURSE : ECONOMICS 

EEC-07 : INDUSTRIAL DEVELOPMENT IN INDIA 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage 70%) 

Note : Attempt questions from each section as per 
instructions given under that section. 

SECTION A 

Attempt any two questions from this section in about 

500 words each. 	 2x20=40 

1. What are the indicators of globalisation ? 

Discuss the strengths and weaknesses of 

industries in the process of moving towards 

globalisation. 

2. Define small-scale industries. Discuss the 

structure of modern small-scale industries. 

Examine the policy to promote small-scale 

industries in India. 
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3. Critically examine Weber's theory of location. 

4. What were the different types of organisational 

structures of industries in India at the time of 

Independence ? Discuss the managing agency 

system as it prevailed in India till mid-1960s. 

What were the main functions of the managing 

agents ? 
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SECTION B 

Answer any four questions from this section in about 
250 words each. 	 4x12=48 

5. Differentiate between capital productivity and 
capital intensity. Discuss the reasons for 
increase in capital intensity in Indian industry 
during 1955 — 1970. 

6. Explain the significance of the concept of 
capacity utilisation in the analysis of business 
cycles. 

7. Define industrial sickness. What are its 
symptoms ? Discuss the adverse effects of 
industrial sickness on the Indian economy 
during pre-1991 reforms period. 

8. Identify different forms of activities of 
multinational corporations. Also examine the 
role of multinational corporations in the 
economic development of developing countries. 

9. Discuss the principal features of the Industrial 
Policy, 1991, in India. 

10. Discuss the contribution of the agricultural 
sector to industrial growth in a developing 
country like India. 
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SECTION C 

Answer any two questions from this section in about 
100 words each. 	 2x6=12 

11. Distinguish 	between 	economies 	and 
diseconomies of scale. Explain in the context of 
Indian industry. 

12. Write short notes on : 

(a) Venture Capital 

(b) EXIM Bank 

13. Differentiate between : 

(a) Strikes and Lockouts 

(b) Restructuring and Lockouts 

14. Briefly explain : 

(a) Mark-up pricing 

(b) Two-part tariff 
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